

$$f: \mathbb{Z} \rightarrow \mathbb{Z}$$

$$a, b \in \mathbb{Z}$$

$$f(2a) + 2f(b) = f(f(a+b)) \quad (1)$$

nech $a+b = b+1$

$$\frac{f(2) + 2f(b)}{[1; b]} = f(f(b+1)) = \frac{f(0) + 2f(b+1)}{[0; b+1]}$$

$$f(2) + 2f(b) = f(0) + 2f(b+1)$$

$$\frac{f(2) - f(0)}{2} = f(b+1) - f(b)$$

\leadsto Proto f je lineárna, $f(x) = mx + n$

dosadíme do (1)

$$m(2a) + n + 2(mb + n) = f(m(a+b) + n)$$

$$2m(a+b) + 3n = m^2(a+b) + mn + n$$

musi platit⁴

$$2m = m^2$$

1

$$3n = mn + n$$

$$m(2-m) = 0$$

$$m = 0$$

polom

$$3n = n$$

$$2n = 0$$

$$n = 0$$

$$f(x) = 0$$

$$m = 2$$

polom

$$3n = 3n$$

$$0 = 0$$

$$n \in \mathbb{Z}$$

$$f(x) = 2x + n$$

šúška: $f(x) = 2x + n$

$$4a + n + 4b + 2n = f(2a + 2b + n)$$

$$4a + 4b + 3n = 4a + 4b + 2n + n \quad \checkmark$$

$$f(x) = 0$$

$$0 = 0 \quad \checkmark$$